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QUESTION 1

Which type of work is best associated with a Robotic Process Automation usage instead of a Digital Worker usage? 

A. Reporting and analytics 

B. Filling out a web portal 

C. Image recognition through machine vision 

D. Analyzing documents 

Correct Answer: C 

 

QUESTION 2

The Content Management Domain treats compliance in which manner? 

A. Decentralizing the compliance process at the document level 

B. Connecting to a built-in compliance database for content management function 

C. Automating the burden of paperwork and regulatory compliance by digitizing and managing documentation 

D. Utilizing Robotic Process Automation task bots to query government compliance endpoints 

Correct Answer: B 

 

QUESTION 3

Which product includes 2D bar code reading capabilities? 

A. Business Automation Studio 

B. Datacap 

C. Business Automation Insights 

D. Business Automation Navigator 

Correct Answer: B 

 

QUESTION 4

Which process capability should be used for a use case requiring manager escalation when a task is not completed? 

A. Business Automation Workflow 

B. Blueworks Live 
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C. Robotic Process Automation 

D. Workstream Services 

Correct Answer: D 

 

QUESTION 5

Which step helps to check the completeness of license usage data? 

A. Log in to the cluster and run the command to check status of any individual product. 

B. Check the list of pods from which the License Service might not collect license usage. 

C. Check if the License Service was successfully deployed on the cluster by using available tools. 

D. Run health checks by the License Service and use the log service to monitor the log. 

Correct Answer: C 
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